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2. AEENBEOHE

HEEER - BN

HS(ZTA)REA(EDSSTV)DRE(TVIW)ER(DAA)ZBERF(UAA)DEDE U TERFE(DH,
WU, A(TZICA)CERBB(EDHWL)TED K D(C/RD  Understand the major management
theories as your own weapons so that you can explain them to others

. BERIVARDERHEEE U 5D  Conduct each class in a mutual Q&A.

2ERORNBEME | - BRIZ2(Z £ 5D UL L)DM((FHY) (Cmini quizzZEEB(FUHW)EME(C > L) 9B Conduct mini-
test at each class.
cBO(FVWNWVWEENKZI)BICDVWT(BELICDVWT)EEMK U)1DEM(LDBA)ZREA
BERBNDZRE (LDWV)ULTLD (TTHAMSRVL(DOMSRLY). F(&D)) Bring in at least 1 question on
each item at class.
CPBRVNC EFFTEDATA)CHND(ONB)ETEB(LDBA)TS Should ask
BIE LD;FEEIEZE questions until you understand them completely enough to answer the similar questions
raised by others
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A 80~895= EBNrREzERL. MEBERFFERL TS,
B 20~T955 FLHERDOENDHEZR L. A TAREANRDHSNDCEEBEZ
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5] HEBE BEAE
PRB(EAZ)DEB(NC UD D) | oo e 2y DA (1201 5 ) TRICAIC R X T(BEZ TN THIA( D
1 ET(CAZ)IDBE(DNES) L)TESNM?  What you remember the content in 1st term, and can
HERR(DHNN) T D o '
explain it?
Understand what you have
SH(EFAL)EKE(BAD P )
2 ZIBR(DOMN)TD PPMD> T ? ESVVSBFICEDSD ?
Understand Corporate strategy
2REAZVRE(EVTE)E
3 D (AIA)RE(SWTE)ZIE SRS BANA)DRII(JZWLWD D) FRERESM?  Why does an inter-
fR(DMN)TSD  Understand departmental conflict happen?
whole/partial optimization
- L;fi;ﬁ;( fff(\?;;ob ) DH(EALUR))EIR(BAD» ) EBE(LZT L D)HEE(EADP )IFEDSD
4 . XM DTULBM?  How is corporate strategy cascaded down to
Understand divisional/product .
divisional/product one
strategy
R—5 —DER(ZFA)EE(BA
5 D ) ZIBEE(DH)TD A (FH L) EBH (U L)' ESERML(ESARDN)TSM?  How do
Understand Porter’s you differentiate your company from your competitors?
competitive strategy
HIR(ZF)DOBF(FNE ) &
6 F([FAV)DBE(TVWS V) ER | K SAEDTEKTAFTDEDANMEIEDRB M ?  What will happen to
(DML F S  Understand the cost if you produce and sell more
scale/scope economics
RE(E &L D€ )II(BUY)BI(
. DEEE(BAD» )ZIBFE(DH | ERA(S L INVRBWV)DU—F—(CESPOTHD? How to beat a
L)) 9 BUnderstand strategy by leader in the industry
competitive position
SOFIRA—DOFERI(EFDEL) | BUL(EDL)EDHEUN(DEWN)EDICED(HAD). BULN(DEL)BDHEHLY
8 =IBR(DMN)TD (EHL)YEDICED(MD)ICIE?  How to beat a stronger/weaker
Understand Lanchester’s competitor
R=7> hDominant#kEg (& A
9 D <)T)IL—A—=+ >Blue BME(CHDIZHICIE  To win a competition
Ocean - Lw RA—> v > I85H
=TT 2JDAP, TIA> TNBEOEZAEBDDAEICEMT  Utilize these concepts for your own
10 |F—>3>. 9—5Fa>20%1E life
29D Review 4P,
HE(BLWOA)EBR(EAD» )/ -~ . . . \ =S v
IBfR(DHL) TS Understand
7=y =75 = 3
b ’}gi(iiii;ﬁ??fg“ fz\)) BOBMRE (SA0E<UA) CEfN3M 2 What are sales
Z=IBfR(D M) T D Understand promotion methods?
13 zz((;\z_i)m;;ﬁgz::v;/\;):j BH(CDFE) - FR(RANA)DEZ(SH<ULw D) Review 2nd term and
whole year
term and whole year
14 #HAEER  2nd term exam.
15 | #HAEREEST (briefingon T)
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TOEEFEGE SR EZHARI D  Prepare references as required
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